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All results for Lawrencium isotopes

Lawrencium 241 (Z=103, N=138)
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Lawrencium 243 (Z=103, N=140)
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Lawrencium 245 (Z=103, N=142)
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Lawrencium 242 (Z=103, N=139)
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Lawrencium 244 (Z=103, N=141)
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Lawrencium 246 (Z2=103, N=143)
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All results for Lawrencium isotopes

Lawrencium 247 (Z=103, N=144)
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Lawrencium 249 (Z=103, N=146)
T & T T T @ Rl
L 4 o Protons E Protons
EA S Newrons] 290 sRATS Neutons 3
23 B £
/ 25 A 3 / <
na/ = o~ <
< VN0 = Soef E
i A X3 e 4
Poions N NVIN e v ‘
\}9 Netrons &
£ B ]
1 IRARRS ARSI RRRLS:
hinelnnfinnnt eV el
T ] = T
: Protons oo d
12 promns e o Newons 4
Neutrons Ao — 1% <
IS P 3
\ T e 12
= R \ w
| 4 . & \
-+ =
I M Bl
T o e o
:
& S5k
T owag 3
=
g
e
N
Q
Tl | Mrctunllene
05 00 05 10 05 05 00 05 10

HFB-D1S Bruyéres-le-Chétel

Lawrencium 251 (Z=103, N=148)
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Lawrencium 248 (Z=103, N=145)
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Lawrencium 250 (Z=103, N=147)
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Lawrencium 252 (Z=103, N=149)
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All results for Lawrencium isotopes

Lawrencium 253 (Z=103, N=150)
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Lawrencium 255 (Z=103, N=152)
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Lawrencium 257 (Z=103, N=154)
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Lawrencium 254 (Z=103, N=151)
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Lawrencium 256 (Z=103, N=153)
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Lawrencium 258 (Z=103, N=155)
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All results for Lawrencium isotopes

Lawrencium 259 (Z=103, N=156)
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Lawrencium 261 (Z=103, N=158)
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Lawrencium 263 (Z=103, N=160)
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Lawrencium 260 (Z=103, N=157)
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Lawrencium 262 (Z=103, N=159)
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Lawrencium 264 (Z2=103, N=161)
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All results for Lawrencium isotopes

Lawrencium 265 (Z=103, N=162) Lawrencium 266 (Z=103, N=163)
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All results for Lawrencium isotopes

Lawrencium 271 (Z=103, N=168)
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Lawrencium 273 (Z=103, N=170)
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Lawrencium 275 (Z=103, N=172)
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Lawrencium 272 (Z=103, N=169)
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Lawrencium 274 (Z=103, N=171)
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Lawrencium 276 (Z2=103, N=173)
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All results for Lawrencium isotopes

Lawrencium 277 (Z=103, N=174)
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Lawrencium 279 (Z=103, N=176)

T T T T g C Rl
[ AIEPN Protons 3 1 Protons
o S Newrons] T ok Neuons ]
/ SHE 2 Sl ~1
it SR p 2 S]
< di WAk AN T 2 Soop 1
Protons X LT N 8 y i
\ﬁ Neutrons 1o ]
[ B ]
1 (el
I ST
= Protons
$ Rewnons
T T 2 [P
12 prowns = ]
q Neutrons -
< 3
= d &
@ W,
1k NI 4
w
Mol
B AL TIPS
3 4
~—J 2 S
g 1w 2 y
£ 20\ n
gt ]
w v
g ¢
og- q N
o RR,]

HFB-D1S Bruyéres-le-Chétel

Lawrencium 281 (Z=103, N=178)
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Lawrencium 278 (Z=103, N=175)
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Lawrencium 280 (Z=103, N=177)
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Lawrencium 282 (Z=103, N=179)
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All results for Lawrencium isotopes

Lawrencium 283 (Z=103, N=180)
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Lawrencium 285 (Z=103, N=182)
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Lawrencium 287 (Z=103, N=184)
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Lawrencium 284 (Z=103, N=181)
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Lawrencium 286 (Z=103, N=183)
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Lawrencium 288 (Z=103, N=185)
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All results for Lawrencium isotopes

Lawrencium 289 (Z=103, N=186)
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Lawrencium 291 (Z=103, N=188)
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Lawrencium 293 (Z2=103, N=190)
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Lawrencium 290

(Z=103, N=187)
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Lawrencium 292 (Z=103, N=189)
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Lawrencium 294 (Z=103, N=191)
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All results for Lawrencium isotopes

Lawrencium 295 (Z=103, N=192)

Lawrencium 296

(Z=103, N=193)
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Lawrencium 297 (Z=103, N=194)
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Lawrencium 299 (Z=103, N=196)
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Lawrencium 298 (Z=103, N=195)
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Lawrencium 300 (Z2=103, N=197)
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All results for Lawrencium isotopes

Lawrencium 301 (Z=103, N=198)
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Lawrencium 303 (Z=103, N=200)
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Lawrencium 305 (Z=103, N=202)
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Lawrencium 302 (Z=103, N=199)

8

T o T RRE T © T
€L 1 = Protons o d = Protons
B4 S Newrons] A Tok Neurons 3
/ 2 i3 =
P 4 < a 20 /=
A s - Soog> B
Q WieW, N8 4
Protons 0 R ATIRY T B / i
\ﬂ Netrons 100~ / B
4 B ]
1 T T T T
AT IV
s
e e 3 [T
=T protons |
10 Proons < Neuwons{ 1004~ 4
g Neutons A S
E ]
< 2 N
= © 5o 1 4
o 2 [ A
i 7 = (-
2 ]
Ml howne
e T s ] e e e
—— ]
X | Z s
€ wof 3 1 2|\ r
Sor 1 - 2 N
i w
< L ] o
i 1 ki N
Lo b T | | |
05 00 05 10 05 00 05 10

HFB-D1S Bruyéres-le-Chétel

Lawrencium 304 (Z=103, N=201)
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Lawrencium 306 (Z2=103, N=203)
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All results for Lawrencium isotopes

Lawrencium 307 (Z=103, N=204) Lawrencium 308 (Z=103, N=205)
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Lawrencium 309 (Z=103, N=206) Lawrencium 310 (Z=103, N=207)
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Lawrencium 311 (Z=103, N=208) Lawrencium 312 (Z=103, N=209)
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All results for Lawrencium isotopes

Lawrencium 313 (Z=103, N=210) Lawrencium 314 (Z=103, N=211)
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Lawrencium 315 (Z=103, N=212)
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Lawrencium 316 (Z2=103, N=213)
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Lawrencium 317 (Z=103, N=214)
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Lawrencium 318 (Z=103, N=215)
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All results for Lawrencium isotopes

Lawrencium 319 (Z=103, N=216)
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Lawrencium 321 (Z=103, N=218)
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Lawrencium 323 (Z2=103, N=220)
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Lawrencium 320 (Z=103, N=217)
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Lawrencium 322 (Z=103, N=219)
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Lawrencium 324 (Z=103, N=221)
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All results for Lawrencium isotopes

Lawrencium 325 (Z=103, N=222) Lawrencium 326 (Z=103, N=223)
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